[bookmark: _GoBack]1.	Program for Reactor Grade Plutonium (RGp) 
print("Select operation.")
print("1.Reactor grade plutonium per year")
print("2.RGP till date")
print("3.Nuclear Weapons per year")
print("4.Nuclear Weapons till date")
choice = input("Select any option(1/2/3/4):")
Reactor_Power = int(input("Enter Reactor Power in Megawatt Electric: "))
Capacity_Factor= float(input("Enter Capacity Factor: "))
Conversion_Factor= float(input("Plutonium Conversion Factor Kg per Ton: "))
Days=float(input("Days reactor is under operation in one year: "))
Total_years=float(input("Total years reactor is under operation: "))
weapon_design_requirement=float(input("Enter weapon design requirement: "))
RGp=Reactor_Power*Capacity_Factor*Conversion_Factor*Days*0.001
if choice == '1':
   print('Reactor Grade Plutonium per year in Kg=',RGp)
elif choice == '2':
   print('Reactor Grade Plutonium till date',RGp*Total_years)
elif choice == '3':
   print('Nuclear Weapons per year',RGp/4)
elif choice == '4':
   print('Nuclear Weapons till date',RGp*Total_years/4)

2.	Program for Weapon Grade Plutonium (WGp)
print("Select operation.")
print("1.Weapon grade plutonium per year")
print("2.WGp till date")
print("3.Nuclear Weapons per year")
print("4.Nuclear Weapons till date")
choice = input("Select any option(1/2/3/4):")
Reactor_Power = int(input("Enter Reactor Power in Megawatt Electric: "))
Capacity_Factor= float(input("Enter Capacity Factor: "))
Days=float(input("Days reactor is under operation in one year: "))
Total_years=float(input("Total years reactor is under operation: "))
weapon_design_requirement=float(input("Enter weapon design requirement: "))
WGp=Reactor_Power*Capacity_Factor*Days*0.001
if choice == '1':
   print('Reactor Grade Plutonium per year in Kg=',WGp)
elif choice == '2':
   print('Reactor Grade Plutonium till date',WGp*Total_years)
elif choice == '3':
   print('Nuclear Weapons per year',WGp/4)
elif choice == '4':
   print('Nuclear Weapons till date',WGp*Total_years/4)
